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QUESTION 1
What statement about statistics rules on Nuage VCS is FALSE?

A. Users can define statistics rules for domain/zones/subnets/vPorts. The rule applied to the most granular object is the
one used.

B. Statistics are collected in an Elasticsearch statistics engine and are aggregated over hours, days, and months.
C. Statistics are pushed from VRS up to VSC, which in turn sends them to the VSD stats engine.
D. When a TCA threshlod is exceeded, an event is displayed in the Ul and a message is sent on the JMS bus.

Correct Answer: A

QUESTION 2

Which of the following is NOT an improvement provided by the backhaul VPLS?
A. Reducing the number of EVPN on the HV.

B. Reducing the number of VXLAN tunnels.

C. Reducing the size of MAC address table.

D. Reducing the consumption of bandwidth.

Correct Answer: B

QUESTION 3

What statement about virtual switches is FALSE?

A. A virtual switch is typically implemented within the hypervisor so that the network is extended onto the server.
B. Virtual switches are VLAN capable.

C. Typically, virtual switches are as capable as physical switches, eg: LAG, hardware-based QoS.

D. If a virtual switch is not on the hypervisor, all traffic will go out of the physical NIC.

Correct Answer: D

QUESTION 4

Which two elements of the Nuage Networks VCS Solution act respectively as the control and data plane of a virtual
router?

A.VSD and VSC
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B. VSC and VSG
C.VSC and VRS
D. VSD and VSG
Correct Answer: C

Reference: https://www.nuagenetworks.net/wp-content/uploads/2020/06/Nuage_Networks_VSP_Data_Sheet EN.pdf

QUESTION 5

What task is NOT part of VSD policy evaluation for a newly-instantiated virtual machine?
A. Checking metadata.

B. Creating a virtual port.

C. Building a forwarding table

D. Assigning an IP address.

Correct Answer: C
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